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TZEHME EREZHEREDLESY
woaE B (M) T F i # (M) HERMAYSEE (1)
YW R EKA 128,675,800 116,978,000 (A) 11,697,800
P d o x| 128,906,800 117,188,000 (B) 11,718,800
RIS R | 118,800,000 108,000,000 (©) 10,800,000
PSR | 119,012,300 (F) 108,193,000 (D) 10,819,300 (E)
AR 212,300  HE%E 193,000 Ha%A 19,300 Ha%E
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(B) X (C) = (A) = (D)
(D) X0. 10=(E)
(D) + (E) = (F)
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& . B E | we mm = s4 g EE A o | ZORBE WS
(EiETEE]
HEWERETS =% 92,598,440 = 92,771,187 172,747 %5
INE 92,598,440 92,771,187 172,747 %5
E:3EED
HBRERE = 2,850,922 = 2,855,863 4941 &E%E
IS mE = 8.977.509 = 8,986,681 9,172 1E%E
— B IR = 12,552,109 = 12,574,569 22460 &%
/N ET 24,380,540 24,417,113 36,573 %A
& &t 116,978,980 117,188,300 209,320 &%E
RETEEE(THME) TFHUTHYRT 116,978,000 117,188,000 210,000 &%
HEMREHEYE 11,697,800 11,718,800 21,000 &%E
WET(IEE) 128,675,800 128,906,800 231,000 1&%8
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- SHEEE THEEE —
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KEE 1 =t 65,239,067 1 = 65,239,067
REE 1 =t 4,364,883 1 = 4 537,630 172,747 12%5
BEE 1 =t 22,994,490 1 = 22,994,490
92,598,440 92,771,187| 172,747 5%E
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1 | REE
1) ERFRE 1 =® 41,772,903 1 = 41,772,903
2) B E 1 =® 12,564,780 1 = 12,564,780
3) EELE: B 1 =K 1,150,230 1 = 1,150,230
4) BaERERE 1 =K 537,940 1 = 537,940
5) Rk K= 1 = 82,460 1 = 82,460
6) BEKER R 1 = 215,420 1 = 215,420
7 HRiGHRE 1 = 2,037,274 1 = 2,037,274
8) HREEE 1 = 275,772 1 = 275,772
9) BEIT=SE 1 = 6,541,709 1 = 6,541,709
10) | BEMONE 1 = 60,579 1 = 60,579

N F 65,239,067 65,239,067
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2 | RE=E
1) ERFRE 1 =® 933,932 1 = 933,932
2) B E 1 =® 1,492,177 1 = 1,664,924 172,747 |1&2%8
3) EELE: B 1 =K 118,090 1 = 118,090
4) BaERERE 1 =K 96,400 1 = 96,400
5) Rk K= 1 = 510,597 1 = 510,597
6) BEKER R 1 = 306,400 1 = 306,400
7 HRiGHRE 1 = 277,276 1 = 271,276
8) HREEE 1 = 217,746 1 = 217,746
9) BEIT=SE 1 = 409,360 1 = 409,360
10) | BEMONE 1 = 2,905 1 = 2,905

N E 4,364,883 4,537,630 172,747 %8
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3 | BREE
1) ERFRE 1 =® 5,288,202 1 = 5,288,202
2) B E 1 =® 7,382,624 1 = 7,382,624
3) EELE: B 1 =® 475,920 1 = 475,920
4) BaERERE 1 =K 83,910 1 = 83,910
5) Rk K= 1 = 1,225,953 1 = 1,225,953
6) BEKER R 1 = 1,978,094 1 = 1,978,094
7 HRiGHRE 1 = 2,245,162 1 = 2,245,162
8) JHNER R 1 = 5,580 1 = 5,580
9) HRE&E 1 = 3,347,379 1 = 3,347,379
10) | BEITE 1 = 941,706 1 = 941,706
1) | BEMOLLE 1 R 19,960 1 = 19,960

N E 22,994,490 22,994,490




